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G

T % 4 B FH 1 L S FE R 25 s L5
it L 5% A MG A L =T H10-24t
T 1 SR AE12 A 25 B b Sfn 24 3 A 21 HET
(H B 1LshHe=)
ot
JIIN ‘A
28 Bk 22 HHBLODFE L DR FEIE L TOMSY
(RS HER)
(B At D - T
w A it (M) T F i # (M) HE R L% (1)
YYRRETH 4 %E 9,988,000 9,080,000 (A) 908,000
A S Ay o) 10,464,300 9,513,000 (B) 951,300
SRS SR 9,867,000 8,970,000 (C) 897,000
AL e R ] 10,336,700 (F) 9,397,000 (D) 939,700 (E)
HEJRAE 469,700 427,000 42,700
HEHX)  B) X (©C)+A)=D) <K D)IEFHIED - HFHLLTFUHET>

(D) X0. 1=(E)
(D) + (E) = (F)




& HOWLS#EhESRIETE No. 1
RETZEEAI HRETEER s
= L =t = 3 L 3 7 1%;5 I~
® H BOF | ye mm mm s g B B o | EOEEE WE
[ERZAR %
| #%ETHE 2V 6,172,978 1 X 6,500,119 327,141 HE%H
RN % 6,172,978 6,500,119 327,141 Hg%E
Him g
[| sk X 480,397 1 3 489,409 9,012 HE%H
0| B5E e =X 1,089,063 1K 1,122,715 33,652 HE%HE
S E X 1,337,891 1 KL 1,401,646 63,755 HEEH
Fam 2,907,351 3,013,770 106,419 HE%H
9,080,329 9,513,889 433,560 H4%E
XA RE (L Hm k) SREEST 11U e 9,080,000 9,513,000 433,000 H4%E
THE RS %A 908,000 951,300 43,300 HY%HE
WA (LEE) 9,988,000 10,464,300 476,300 HE%E




& HOW#EM ESIETE No. 2
RETEEAT RETERR a3

® H L Y AT Yy g BE BE o | EUEEE WE
I |BETSE
Al [ O LghHEE s T8 2V 3,225,867 oy 3,267,467 41,600 \HE%E
A2 BT ShHEESE T35 = 1,793,127 = 1,904,056 110,929 HE%H
A3 |EBESHER e T 5 2V 1,153,984 oy 1,328,596 174,612 Ha%H

Gt 6,172,978 6,500,119 327,141 HE%H




& HOW#EM ESIETE No. 3
REtEER RETEFR a3

® H "= g B B s g B B o | EUEEE WE
Al [HAOLUY#HERIEISE
1 |G T 1 ==X 130,586 1 =K 130,586 0
2 |EFdmiGRRE T 1 =R 1,830,484 1= 1,872,084 41,600 H8%E
3 |0 THE 1 =® 1,008,138 1 =K 1,008,138 0
4 |-y 1 = 256,659 1 = 256,659 0

Gt 3,225,867 3,267,467 41,600 HE%E




& HOW#EM ESIETE No. 4
RETEEAT RETERR a3
® H wE g B B s g B B o | EUEEE WE
A2 |(MAHHERIETIE
1 |EERGETE 1 K 60,234 1 =X 60,234 0
2 |BrEmimdiE TF 1 = 1,204,196 1 = 1,421,571 217,375 BE%H
3 |0 THE 1 =® 465,805 1 =X 359,359 -106,446 | Jg%E
4 |-y 1 = 62,892 1 = 62,892 0
Gt 1,793,127 1,904,056 110,929 HE%H




& HOW#EM ESIETE No. 5
RETEEAT RETEFR a3
® H "= g B B s g B B o | EUEEE WE
A |EREYHESIETIE
1 |G T 1 ==X 29,904 1 =K 29,904 0
2 [(RE—TUETHE 1 = 459,802 1= 513,772 53,970 H4%E
3 |0 THE 1 =® 276,340 1 =K 276,340 0
4 |-y 1 = 387,938 1 = 508,580 120,642 HE%H
Gt 1,153,984 1,328,596 174,612 HE%H




